IDEAL STOICHIOMETRY: CALCULATE THE FOLLOWING:

1)
Using the following equation: 2 NaOH + H2SO4 ( 2 H2O + Na2SO4

How many grams of sodium sulfate will be formed if you start with 200. grams of sodium hydroxide and you have an excess of sulfuric acid?












 = 
2)
Using the following equation:      Pb(SO4)2 + 4 LiNO3 ( Pb(NO3)4 + 2 Li2SO4

How many grams of lithium nitrate will be needed to make 250. grams of lithium sulfate, assuming that you have an adequate amount of lead (IV) sulfate to do the reaction?
3)
How many liters of 0.100 M HCl would be required to react completely with 5.00 grams of calcium hydroxide?  Ca(OH)2(s) + 2 HCl(aq) ( CaCl2(aq) + 2 H2O(l)
4)
If I combined calcium hydroxide with 0.0750 L of 0.500 M HCl, how many grams of calcium chloride would be formed?   Ca(OH)2(s) + 2 HCl(aq) ( CaCl2(aq) + 2 H2O(l)
5)
Calcium carbonate decomposes at high temperatures to form carbon dioxide and calcium oxide: CaCO3(s) ( CO2(g) + CaO(s)   How many grams of calcium carbonate will I need to form 3.45 liters of carbon dioxide at STP?

6)
Ethylene burns in oxygen to form carbon dioxide and water vapor:                                        C2H4(g)+ 3O2(g) ( 2CO2(g) + 2H2O(g)       How many liters of water can be formed if 1.25 liters of ethylene are consumed in this reaction at STP?

7)  
When chlorine is added to acetylene, 1,1,2,2-tetrachloroethane is formed:                    2Cl2(g)+C2H2(g) ( C2H2Cl4(l)  How many liters of chlorine will be needed to make 75.0 grams of C2H2Cl4?

Solutions for the Stoichiometry Practice Worksheet:
1)
355.3 grams of Na2SO4
2)
313.6 grams of LiNO3
3)
How many liters of 0.100 M HCl would be required to react completely with 5.00 grams of calcium hydroxide?


1.34 L HCl
4)
If I combined 15.0 grams of calcium hydroxide with 75.0 mL of 0.500 M HCl, how many grams of calcium chloride would be formed?


2.08 grams Ca(OH)2
Gas Stoichiometry Practice - Solutions

5)
Calcium carbonate decomposes at high temperatures to form carbon dioxide and calcium oxide: CaCO3(s) ( CO2(g) + CaO(s)  How many grams of calcium carbonate will I need to form 3.45 liters of carbon dioxide?


14.1 gram CaCO3
6)
Ethylene burns in oxygen to form carbon dioxide and water vapor: C2H4(g)+3O2(g)(2CO2(g)+2 H2O(g)    How many liters of water can be formed if 1.25 liters of ethylene are consumed in this reaction?


2.50 liters H2O
7)
When chlorine is added to acetylene, 1,1,2,2-tetrachloroethane is formed: 2Cl2(g)+C2H2(g)(C2H2Cl4(l)   How many liters of chlorine will be needed to make 75.0 grams of C2H2Cl4?


21.8 L Cl2
Ideal Stoichiometry Practice Problems               #___
**You must show all work as we go through each problem.**
BALANCE THE FOLLOWING EQUATIONS TO USE IN QUESTIONS 5 – 9:

1. ____ Al + ____ O2 ( ____ Al2O3
2. ____ Cu + ____ AgNO3 ( ____ Ag + ____ Cu(NO3)2
3. ____ Zn + ____ HCl ( ____ ZnCl2 + ____ H2
4. ____ Fe + ____ Cl2 ( ____ FeCl3




              

Ideal Stoichiometry Calculations Part 1:  PERFORM THE FOLLOWING STOICHIOMETRIC CALCULATIONS SHOWING ALL YOUR WORK DONE OUT.  
5. In the reaction above 50.0 g of aluminum oxide is produces in the reaction of aluminum metal and oxygen gas at STP.   How many liters of oxygen gas were reacted?

6. Copper metal reacts with silver nitrate to form silver and copper(II) nitrate.  How many grams of copper are required to form 250 g of silver?

7. Zinc reacts with hydrochloric acid to produce zinc chloride and hydrogen gas.  How many grams of zinc are required to react with 0.130 liters of 3.00M HCl solution?

8. When 9.34 g of zinc react with excess hydrochloric acid how many grams of zinc chloride will be produced? 

9. How many grams of iron (III) chloride are produced when an excess of iron metal reacts with 31.0 L of chlorine gas at STP?
